Тест по теме «Решение уравнения tg x=a»
1. Решить уравнение [image: http://static.interneturok.cdnvideo.ru/0df9a4f3-09d1-41a6-b2fc-4d869f5f5773]

  1)[image: http://static.interneturok.cdnvideo.ru/7b720a01-f7ae-4e01-b9e0-464af757dc9e]  [image: http://static.interneturok.cdnvideo.ru/58335307-16dc-4cbf-b53b-277d7cd0e8d5];  2) [image: http://static.interneturok.cdnvideo.ru/af1f19ac-a18f-4ba1-a110-fb8674ad8e27][image: http://static.interneturok.cdnvideo.ru/58335307-16dc-4cbf-b53b-277d7cd0e8d5]
  3) [image: http://static.interneturok.cdnvideo.ru/21b64475-e8aa-4966-9bab-ef59beaaa1cf][image: http://static.interneturok.cdnvideo.ru/58335307-16dc-4cbf-b53b-277d7cd0e8d5] ; 4) [image: http://static.interneturok.cdnvideo.ru/e98227f6-dde8-4130-a642-31bea87efbdf] [image: http://static.interneturok.cdnvideo.ru/58335307-16dc-4cbf-b53b-277d7cd0e8d5]

2. Решить уравнение [image: http://static.interneturok.cdnvideo.ru/31fd9fe7-c597-4711-80e2-a3da9ee8120c]
1) [image: http://static.interneturok.cdnvideo.ru/d371fb41-1448-4d91-ae70-c44bd84372f6];    2) [image: http://static.interneturok.cdnvideo.ru/bfd74777-b60f-4f28-b232-0602759c0801]; 3) [image: http://static.interneturok.cdnvideo.ru/e55a9d27-e409-42de-81e0-c14f6eac963c];  4) [image: http://static.interneturok.cdnvideo.ru/1ec9ab43-cef7-4f42-9e15-5c4320b1dfd9]


3. Решить уравнение  [image: http://static.interneturok.cdnvideo.ru/781bcf1b-a599-4aec-a7a3-8e69a2a81c78]
1) [image: http://static.interneturok.cdnvideo.ru/d336b592-aef0-4ad4-90d6-65fed2ea70e0] [image: http://static.interneturok.cdnvideo.ru/13c90643-5543-4be0-934a-3de0c64c0bfc] [image: http://static.interneturok.cdnvideo.ru/58335307-16dc-4cbf-b53b-277d7cd0e8d5]; 2) [image: http://static.interneturok.cdnvideo.ru/bb9a80db-7862-41ef-8382-3a2bcc013481] [image: http://static.interneturok.cdnvideo.ru/a205dfc5-8dc2-4eb2-88e3-bc137e60bd3a][image: http://static.interneturok.cdnvideo.ru/58335307-16dc-4cbf-b53b-277d7cd0e8d5]
3)[image: http://static.interneturok.cdnvideo.ru/20754c6b-86a7-4f15-ba16-58dc524ddc72] [image: http://static.interneturok.cdnvideo.ru/13c90643-5543-4be0-934a-3de0c64c0bfc] ;[image: http://static.interneturok.cdnvideo.ru/60540718-053a-4a45-a3be-6d3aefd14e9a]; 4) [image: http://static.interneturok.cdnvideo.ru/1494ae4e-17ed-414d-9183-522c57e1c0f1] [image: http://static.interneturok.cdnvideo.ru/1d7d9231-fdfe-410d-ba0d-200a529c14c6][image: http://static.interneturok.cdnvideo.ru/60540718-053a-4a45-a3be-6d3aefd14e9a]


3. Решить уравнение  [image: http://static.interneturok.cdnvideo.ru/2418d4d4-2831-41ec-865d-efc6804efdd9]
1) [image: http://static.interneturok.cdnvideo.ru/06652f3d-f6f8-4e70-8177-7f7adbe50a33];  2) [image: http://static.interneturok.cdnvideo.ru/a1599103-c7bb-4d21-be8e-d738cad46c99]; 3) [image: http://static.interneturok.cdnvideo.ru/b5faa85c-fc03-4db4-96a6-1d8e9916f745]; 4) [image: http://static.interneturok.cdnvideo.ru/9a5c1ded-014d-487f-8f46-12ea80626225]


4. Решить систему [image: http://static.interneturok.cdnvideo.ru/f12eee27-5731-4d35-8822-cbbb0e7b496e]
1) [image: http://static.interneturok.cdnvideo.ru/eadd0382-16f2-45d0-adb5-d879aa02e8ae][image: http://static.interneturok.cdnvideo.ru/58335307-16dc-4cbf-b53b-277d7cd0e8d5];  2)[image: http://static.interneturok.cdnvideo.ru/b616df91-0ffe-4dbc-ac2b-bb42f5a5ddef][image: http://static.interneturok.cdnvideo.ru/58335307-16dc-4cbf-b53b-277d7cd0e8d5]; 3) [image: http://static.interneturok.cdnvideo.ru/c9e31c3d-0e87-4b30-bc4d-ed289c738a42][image: http://static.interneturok.cdnvideo.ru/58335307-16dc-4cbf-b53b-277d7cd0e8d5]; 4) [image: http://static.interneturok.cdnvideo.ru/9a1bf4f2-0732-44fb-95c9-f2d42da5abf0][image: http://static.interneturok.cdnvideo.ru/58335307-16dc-4cbf-b53b-277d7cd0e8d5]


5. Найти наименьший положительный корень уравнения [image: http://static.interneturok.cdnvideo.ru/b7cc035a-9f8a-4cb8-a636-c0be0b05fa79]
1) [image: http://static.interneturok.cdnvideo.ru/82e5b06a-f9d6-4ee7-b90b-24b264731365];           2) [image: http://static.interneturok.cdnvideo.ru/56aea58e-d3e5-457d-a70c-7c190f2e5115];         3) [image: http://static.interneturok.cdnvideo.ru/68374e2d-c1d1-4061-85b0-adf14e74bbc3];        4) [image: http://static.interneturok.cdnvideo.ru/aef3349e-75d3-451b-ae64-4b3a2e78d067]
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